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101|R#A7 L 1,019 503 516| Kg |EE 972 54|EfE 2,160 216
102|357 L 1,412 1412 Kg BIE 1,593 555
111|&EEF £ 792 406 386| Kg |&40 648 216|= 40 1,944 363
113|RAV S 142 10 132| Kg |@&8 864 540| & 2,160 864
114|B5EFE 147 22 125 Kg |BRS 864 e 2,970 540
15[ 1= 30 24 6| Keg |EE 2,484 1,404| & 3,024
117[1E 363 210 153 Kg |&)I 1,080 432|E s 1,728 432
121|rblE &€ 4 3 1| Keg |EE 756 215|fE 648
134[#= = 431 150 281 Kg |EE 2,500 1,080| & 3,024 1,620
137|&5E.3. < 8 8 Kg |BE 216
140(5 I 20 20| Kg FE 45,360 11,016
147|EZ O 50 50| Kg il 14,000 7,000
158|&FEN A IEH 196 196 Kg R 2,484 1,728
201{Lvb L 847 847| Kg S - Al 486 36
203|/hd L 84 84| Kg = 459 62
206| = 1F 440 440|  Kg RI5 756 259
208| Mo % 392 392| Kg £4fH 1,404 378
2094 B & L 170 170| Kg K% 1,188 386
210|1F ALy 642 606 36| Kg |LO 4,320 184| Rl 3,510 2,376
212|&5E.3Y 208 208| Kg K4 - BIE 2,970 1,450
251|< B %<3 158 158 Kg |F=E 2,160
254|E b ECH 456 456| Kg =] 1,998 1,058
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303[A 27z 33 9 24| Kg |8 468 FE 720 576
305|xAah>0b 1 1 Kg FJE 3,888

306|Le &Y 8 2 6| Kg [E&E 324 . 1,296

315|7: b5 6 48 48| Kg =y 3,240 1,620
3191 h o 674 27 647 Kg |f& 594 = R 1,134 540
332|115 WA EF 170 170] Kg i 2,160 1,728
3BlHHY 15 5 10 Kg |[®E 2,808 FEE 2,592

3541 <Y 91 25 66| Kg |T%E 864 648| 2K 1,836 864
3/5|HEY) 78 78] Kg timE - P E 1,404 600
356|L LA 33 33 Kg SER 1,512 864
3577/~ E 33 33 Kg FEE 10,800 945
362| & 11 11| Kg FJE 3,024 1,728
401|H W 40 40| Kg Iz & 2,160 1,296
4025 5 &E 20 20 Kg A0 5,616 3,672
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RN L 20 20| Kg F 918 594
R 2O 1,278 1,278| Kg FA77 3,120 528
BRECEZV 42 42| Kg 73 1,836 1,500
SE WA AE 40 40 Kg JtF 1,300 1,000
i 20 20l Kg Eles 1,296 972
MR Z 83 83| Kg "E B 3,996 1,944
R MM 100 100| Kg 75 [ 3,780 1,620
AR 1,679 1,679 Kg 77 - AbF 1,998 1,200
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70110 BA 2,088 605 1,483 Kg |EH 1,557 1,293|&E 3,564 1,350
755(Fd L 19 19 Kg E=AES 1,274 1,044
76l|1b Y AEE 6 6 Kg FO&rL 2,620
76713725 WD 51 51 Kg EE 2,520 2,340
801 [3BAT = 1S 122 122 Kg FE-mA 1,728 1,134
802 1 58 58] Kg blo el 1,836 1,404
805 = 1E 118 118] Kg bF 1,231 691
810|BAKTF 121 121 Kg B =2 2,700 2,160
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